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RA005 BHREES A 0.769
RA010 TEEES A 0.828
RA015 B{EXE A 0.851
RA020 EET A 0.773
RA025 EEL A 0.826
RA030 EUT A 0.860
RA035 AT A 0.858
RA040 JOvyT A 0.835
RA045 HES A 0.828
RA050 AT A 0.872
RA055 HET A 0.831
RA060 BET A 0.824
RA065 BEL A 0.842
RA070 1EEnF (F5%) A 0.778
RA075 BEELTF (— %) A 0.793
RA080 BMOAUTL A 0.861
RA085 BOhAHEER A 0.718
RA090 =T A 0.683
RA095 FoRILEBRT A 0.931
RA100 EIRET] A 0.888
RA105 N R JLIHEER A 0.903
RA110 BYLOEH%T A 0.851
RA115 BYLOERET A 0.855
RA120 BYLOHEER A 0.818
RA125 T R—ARIHEER A 0.775
RA128 mEE A 0.720
RA130 SR E A 0.720
RA135 LTEmE A 0.737
RA138 BKEHEER A 0.807
RA140 Bkt A 0.807
RA145 BKEEKE A 0.887
RA150 BKERE A 0.876
RA155 AR T A 0.775
RA160 EET A 0.823
RA165 BT A 0.898
RA170 AT A 0.896
RA175 £E A 0.835
RA180 BET A 0.764
RA185 DY T A 0.830
RA190 BhK T A 0.782
RA195 wREL A 0.799
RA200 24)LT A 0.963
RA205 Yy T A 0.785
RA210 BiEAET A 0.782
RA215 REET A 0.861
RA220 HSART A 0.738
RA230 RBFEZHEA A 0.860
RA231 XBEFEZHEEB A 0.908
RA235 ZET A 0.851
RA240 ORI A 0.720
RA245 RET A 0.740
RA250 BEIJOvIT A

RA255 BT EE 1R A 0.775
RA270 HET (1BER) A
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RA325 BT A 0.842
RA405 TET A 0.706
RA410 ESUBERITE A 0.640
RA415 i'-a’ﬁ@%:}zmﬁ A 0.640
RA420 mREEME (ER) A 0.610
RA425 mREEMNE (ER) A 0.610
RA505 R EHW T A 0.746
RA510 B ERET A

RA515 BEWEREEA T A 0.699
RA525 BEREET A 0.699
RA605 I&Hm% A 0.550
RA615 HE-FiiE S A 0.550
RA617 HE-HEiR RES A 0.550
RA620 FERED O E A 0.550
RA622 FEHEn AE A 0.550
RA625 FEifi (A) o E A 0.550
RA627 FEifi (A) AE A 0.550
RA630 FEf (B) o E A 0.550
RA632 FEf (B) AE A 0.550
RA635 FiEifi (C) o E A 0.550
RA637 FEifi (C) AE A 0.550
RA640 Bifig o E A 0.550
RA642 Bitig AE A 0.550
RA645 AXT(KI) A

RA705 Hh B A A o E A 0.600
RA707 Hh B R A A L AE A 0.600
RA710 FEMERES o E A 0.600
RA712 FEMERES L RE A 0.600
RA715 ERES o E A 0.600
RA717 MERES Ao ES A 0.600
RA720 AlE ERETRE o E A

RA722 A EREEEE | RE A

RA725 Bl FERED o E A 0.550
RA727 Bl FERED L RE A 0.550
RA730 Bl=HEm A E A 0.550
RA732 Bl=HEm AE A 0.550
RA735 B = B En4d A E A 0.550
RA737 B = B En4d [ NE A 0.550
RA740 BI=SBF 9 E A 0.550
RA742 BI=EBF RE A 0.550
RA744 H=@EE N A 0.650
RA746 B=@HE L AE A 0.650
RA750 it RE A 0.600
RA752 it OV E A 0.600
RA755 BiEL RE A 0.600
RA757 BiEt OV E A 0.600
RA760 i A L AE A 0.550
RA762 e 9 E A 0.550
RA765 2B F A 0.550
RA771 B =2 fnigHt L O A 0.550
RA773 B2 Ml L AE A 0.550




